E OF THE DISTRICT SUPERINTENDING ENGINEER

HYDRAULIC CIRCLE KUPWARA -- HEADQUARTER HANDWARA

CONTRACTOR'S NAME: ISHTIYAQ AHAMAD BHAT.

S/O:GHULAM.RASOOL BHAT

R/O:SOLINA PAYEEN SRINAGAR.

Registration No: CE/I&FC/Sgr/112/AAY(Civil/Sanitary)/2017-18.

GSTIN NO: 01AFXPB8396J1ZX

Sub: Laying & Fitting of mains, sub-mains & distribution system, construction of chain link fencing around structures, Six No, Sluice chambers, Anchor Blocks & approach road for 100percent FHTC coverage under JJM for WSS Khumbriyal.

Ref: -

1.Minutes of the 9th meeting of Technical Appraisal Committee held on 22.08.2022, minutes Issued thereof vide CE/PHE/16932-54 dated. 22.08.2022.

2.Minutes of the 4th & 5th meeting of Apex Committee JJM J&k circulated under endorsement NO:-SMD/JJM/J&K/27/2021-22/771-73,Dt. 29-09-2022

3. Accord of Administrative Approval vide Chief Engineer Kashmir PHE Deptt. Srinagar's Order No. CE/PHE/DB/JJM/250 of 08/2022 dated. 31.08.2022

4. District Action Plan of District Kupwara by DJJM vide No. DDCK/Plg/JJM/4465-85 dated. 14.07.2022

5. Govt. Order No. 19-JK (JSD) of 2022 dated. 04.02.2022

6. Technical Sanction Order No. CE/PHE/DB/256 of 08/2022 dated. 31.08.2022

7.District Development Commissioner Kupwara's Authorization No. DDCK/Plg/JJM/MoM 11731-46, Dated: 02/01/2023 vide endorsement No.: DDCK/Plg/JJM/11747-67dated. 02.01.2023

Advertised cost: - Rs: 191.26 LACS Rs: 193.17 LACS -Allotted cost: -

(Rupees One Crore Ninety Three lacs and Seventeen Thousand Rupees Only).

For and on behalf of the Lt. Governor of Jammu and Kashinir UT, contract for Laying & Fitting of mains, sub-mains & distribution system, construction of chain link fencing around structures, Six No, Sluice chambers, Anchor Blocks & approach road for 100 percent FHTC coverage under JJM for WSS Khumbriyal is hereby fixed with you on the accepted rates by you as shown in the enclosed Annexure of this allotment. The total cost of the work will be of the order of Rs. Rs: 193.17 LACS (Rupees One Crore Ninety Three lacs and Seventeen Thousand Rupees Only)on the terms and conditions as laid down in E- NIT No: 44 of 2022-23 Dt. 16/11/2022 issued under endorsement No PHEDK/3606-16 Dt: 16/11/2022 from the Executive Engineer PHE Division Kupwara shall be binding on the contractor.

S.No	Item Description	Quantity	Units	Rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 min width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: (1 Mtr from cutting edge)				
i	a) All sorts of soil	11593.68	CUM	436	5054844.00

Far	th work in bulk excavation by manual means			1	
	areas (exceeding 30 cm in depth, 1.5 m in				
	th as well as 10 m2 on plan) including disposal			A STATE OF THE STA	
	excavated earth lead upto 50 meters and lift			and the same of th	
	to 1.5 m, as directed by Engineer-in-Charge				
+					
	All sorts of soil	191.74	CUM	539.35	103415.00
	oviding of Laying of dry stone soling hand	64.83	CUM	816.4	52927.00
	cked on level				*
	ntering and shuttering including strutting,				
	opping etc, and removal of form for.				
100	Foundations, footings, bases of columns etc for	334.76	SQM	262.3	87808.00
8	ass concrete.		34111	202.0	07000.00
b)	Walls (any thickness) including attached	040	5014	570.05	500054.00
pi	lasters, buttresses, plinth and string courses etc.	912	SQM	573.85	523351.00
	Suspended floors, roofs, landings, balconies and				
	ccess platform.	63.76	SQM	635.6	40526.00
	dges of slabs and breaks in floors and walls under				
1	0 cm wide	106.18	RM	242.3	25727.00
	roviding and laying in position cement concrete				
1	of specified grade including curing but excluding				
	he cost of centring and shuttering. All work upto				
1	olinth level with				
, ,	1:4:8 (1 cement : 4 coarse sand : 8 graded stone		-		
	aggregate 40 mm nominal size)	47.48	CUM	4861.83	230840.
	1:2:4 (1 cement : 2 coarse sand : 4 graded stone	***************************************			
	aggregate 20 mm nominal size)	55.43	CUM	6465.19	358365.00
	Providing and laying in position specified grade of				
	reinforced cement concrete including curing but				
	excluding the cost of centering, shuttering,	-			
1	finishing and reinforcement. All works upto				
- 1	plinth level				
$\overline{}$	1:1½:3 (1 cement : 1½ coarse sand : 3 graded				e se elelin.
1	stone aggregate 20 mm nominal size)	8.1	CUM	7800.76	63186.00
	Reinforced cement concrete work in walls (any				
	thickness) including attached pilasters, buttresses,				
	plinth and string courses, fillets, columns, pillars,				, -
7	piers, abutments, posts andstruts upto floor five				-
	level including curing but excluding cost of				
	centering shuttering, finishing and				า 1 - กล้าสห์
	reinforcement.				0
:	1:1½:3 (1 cement : 1½ coarse sand : 3 graded		1	1	
1	stone aggregate 20 mm nominal size)	35.49	cum	9408.13	333895.00

TO M

DSE

8	Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiralstair cases upto five level including curing but excluding the cost of centring, shuttering,				
	finishing and reinforcement with 1:11/2:3 (1 cement : 11/2 coarse sand : 3 graded	2.82	сим	9849.34	27775.00
9	stone aggregate 20 mm nominal size) Providing and laying damp-proof Course 50 mm thick with cement concrete 1:2:4 (1 cement:2 coarse sand: 4 graded stone aggregate 20 mm nominal size) and curing complete	22.97	SQM	409.8	9413.00
10	Reinforcement for R.C.C work including straightening cutting, bending, placing in position and binding all complete, Thermo-Mechanically treated bars.	5002	KG	95.1	475690.00
11	Brick work with common burnt clay F.P.S.(non-modualar) bricks of class designation 75 in foundation and plinth in cement mortar 1 :6 (1 cement:6 coarse sand)	19.86	cum	6802.12	135090.00
12	Extra for brick work in superstructure above plinth level upto floor V level. (By manual means)	15.45	CUM	1456	22495.00
13	Random Rubble masonry with hard stone from qyarry in foundation and plinth including levelling up with cement concrete 1:6:12 (1 Cement: 6 coarse sand: 12 graded stone aggregate 20mm nominal size) upto plinth level with cement mortar 1:6 (1 Cement: 6 coarse	38.92	CUM	4435.25	172620.00
14	bond stone.	15.9	CUM	2497.5	39710.00
15	Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold			138685.	1.0700.00
1		0.82	CUM	4	113722.00

TO



		1		or a supple	1
16	providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick				
i	First Class kail wood	12.46	SQM	2501.25	31166.00
17	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: -Butt hinges and necessary screws shall be paid separately). (35mm thick)				
i	First Class kail wood	7.03	SQM	3093.8	21749.00
18	Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws (35mm)				
i	First class kail wood	3.19	SQM	3726.05	11886.00
19	Providing and fixing wire gauze shutters using galvanized M.S. wire gauze of average width for aperture 1.4 mm in both directions with wire of dia. 0.63 mm for doors, windows and clerestory windows with ISI marked M.S. pressed butt hinges bright finished of required size with necessary screws as per direction of Engineer-in-charge: (35 mm)				
i	1st Class Kail Wood	8.55	SQM	3651.65	31222.00
20	Providing and fixing aluminum sliding door bolts ISI marked anodized (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade with nuts and screws etc. complete				
i	250x16 mm	5	No.	229.9	1149.00
ii	P/F ISI Marked MS Sliding Door	5	No.	200.6	1003.00



						and a second of the second of the second of the second of	
		providing and fixing aluminum tower bolts ISI		1			And the second
		marked anodized (anodic coating not less than					
	JF21	grade AC 10 as per IS: 1868) transparent or dyed			-		
	A	to required colour or shade with necessary					
		screws etc. complete					
	M	150x10 mm	8	No	80.35	643.00	
	Hi	100x10 mm	8	No	57.35	459.00	1
		Providing and fixing aluminum handles ISI					-
		marked anodized (anodic coating not less than				1	
	22	grade AC 10 as per IS: 1868) transparent or dyed					
	7	to required colour and shade with necessary					
		screws etc. complete					
1	i	150 mm	8	No	66.35	531.00	1
	ii	100 mm	8	No.	52.3	418.00	-
		Structural steel work in single section, fixed with					1
	23	or without connecting plate, including cutting,	300	l vc	000		
		hoisting, fixing in position and applying a priming	300	KG	99.3	29790.00	
		coat of approved steel primer all complete					
	24	Structural steel work in built up sections, trusses					7
		and framed work, including cutting, hoisting,	10376	V.C	444.40	44700000	
		fixing in position and applying a priming coat of	10376	KG	111.42	1156094.00	
		approved steel primer all complete Welded					
		Cement concrete flooring 1:2:4 (1cement: 2					\dashv
		coarse sand: 4 graded stone aggregate) finished					
	25	with a floating coat of neat cement including			,		-
		cement slurry and curing complete, but excluding					
L		the cost of nosing of steps etc. complete					
	i	50 mm thick with 20mm nominal size stone	24				
	Alexander of	aggregate.	34	SQM	555.5	18887.00	
		Providing and fixing 1st quality ceramic glazed		and an expense	TO THE PARTY OF		
		wall tiles conforming to IS: 15622 (thickness to					
		be specified by the manufacturer), of approved					
		make, in all colours, shades except burgundy,					
		bottle green, black of any size as approved by					
	26	Engineer- in-Charge, in skirting, risers of steps	11.88	SQM	1161.05	13793.00	
		and dados over 12 mm thick bed of cement		30,11	1101.00	13793.00	
		mortar 1:3 (1 cement : 3 coarse sand) and					
		jointing with grey cement slurry @ 3.3 kg per					
		sqm, including pointing in white cement mixed			-	2	
		with pigment of matching shade complete.					
		silade complete.				100	00



			1		1
	Providing and laying rectified Glazed Ceramic				
	a siles of size				
1	300x300 mm or more (thickness to be specified				
1.000					
	1st quality conforming to IS : 15622, of approved	3.06	SQM	1216.05	3721.00
	1st quality comorning to it is an 30 mm	3.00	30111	1210.00	0.2
7	make, laid on 20 mm thick cement mortar 1:4 (1Cement : 4 Coarse				
1	thick cement mortal 1.4 (Icement 1.4 course				
	sand), including grouting				
	the joints with white cement and matching				
	pigments etc., complete.				
+	and diag corrugated G. S. sheet rooting including				
1	was a formed surface fixed with polymer				
- 1	hooks, holts and nuts 8mm diameter				
1	and G.I limpet washers or with G.I.				
1					
	and of approved steel primer and two coats of				
	naint on overlapping of sheets				
	complete (upto any pitch in horizontal/vertical or				
	curved surface)excluding the cost of purlins,				
- 1	curved surface) excluding the cost of partials				
1	rafters and trusses and including cutting to size				
	and shape wherever required				
	0.63 mm thick with zinc coating not less than 275	66.6	SQM	1141.8	76044.00
i	aram/m2			+	
	Broylding ridges or hips of width 60cm overall				
İ	width plain G.S. sheets fixed with polymer coated				
29	J. or L hooks, bolts and nuts 8mm dia G. I. limpet				
	and bitumen washers complete				
	0.63 mm thick with zinc coating not less than 275	05	RM	830.1	20753.00
i		25	KIVI	830.1	20100.00
180 180	gram/m2		7 May 1999	10 种产工作和19	Alternative National
30	Providing and fixing plained eaves boarding.2nd			1 1	
30	class kail wood				
<u>.</u>	300x40 mm (nominal size)	29.6	RM	1587.9	47002.00
31	12mm Cement plaster of mix:				
i	1:4(1 cement: 4 fine sand)	1090.82	SQM	286.05	312029.00
•	12mm Cement plaster finished with a floating				
32	coat of neat cement of mix:				
	coat of heat cement of flux.				7444 00
i	1:3 (1 cement: 3 fine sand)	19.6	SQM	378.12	7411.00
	Pointing on stone work with cement mortar 1:3	100			
33		1.0			•
	(1 cement : 3 fine sand)	-			F500.00
i	Flush/Ruled Pointing	18.53	SQN	297.88	5520.00
	Finishing walls with water proofing cement paint			,	
34	of required shade on New work (two or more	66.82	SQN	1 91.8	6134.00
	coats applied @ 3.84 kg/10sqm				







		The state of the s			
	painting with synthetic enamel paint of approved brand and manufacture to give an even shade	492.05	SOM	121 95	60007-06
36	Two or more coats on new work Providing and applying white cement based putty of specified thickness, of approved brand and manufacturer, over the plastered wall surface to	A control of the second of the			
	prepare the surface even and smooth complete 1 mm thick	79.16	SQM	129.5	10251 90
37	Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/ liter, of approved brand and manufacture, including applying additional coats wherever required,	79.16	SQM	78.65	8228.00
38	Providing and fixing water closet squatting pan (Indian type W.C. pan) with 100 mm sand cast Iron P or Strap, 10 litre low level P.V. C. flushing cistern including flush pipe (of approved make) "manually contro(led device (handle lever) conforming to IS:7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required.Orissa pattern white vitreous china W.C. pan of size 580x440 mm with integral type foot rests.	1	No	3690.25	3690.00
39	Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 liter low level white P.V.C. flushing cistern, including flush pipe with manually controlled device (handle lever), conforming to IS:7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required: W.C. pan with ISI marked white solid plastic seat and lid.	1	No.	5326.1	5326 00
40	Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank	500	Litres	11.25	5625.00
41	Providing & fixing PVC pipe Grade B along with all PVC bends, Tees, S&P traps fittings, vent cowl incl, earth work excavation refilling etc complete job				







		60	RM	500	30000.00
	100mm dia	60	RM	400	24000.00
0	75mm dia Providing and fixing white vitreous china Providing and fixing white vitreous china	1	No	1449.35	1449.00
7	the back ,f, or the reception of pipes and items Providing and fixing C.P. brass angle value for Providing and fixing C.P. brass angle value for Providing and fixing C.P. brass angle value for	5	No.	536.1	2681.00
	conforming to IS: 8931 (15mm Hornina Bore) Providing and fixing C.P. brass bib cock of approved quality conforming to IS: 8931 (15 mm	5	No.	436.5	2182.00
	nominal bore) Providing and fixing ball valve (brass) of approved quality complete 15 mm nominal bore	4	No.	438.85	1755.00
45 46	Providing and fixing C.P. brass close note pasting and make,	5	No.	2207.6	11038.00
	weighing not less than 1.970 kg. P/F of water Geysers of 35 litres	2	No.	20000	40000.00
48	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, including cutting and making good the walls etc Concealed pipe including painting with anti corrosive bitumastic paint, cutting chases and making good the wall			474.04	47421.00
i	15 mm dia. nominal bore	100	RM	474.21	
ii	20 mm dia. nominal bore	100	RM	524.26	52426.00
49	Providing and fixing toilet paper holder (C.P Brass)	1	No	500	500.00
50	Providing and fixing Salem Stainless Steel A ISI 304 (18/8) kitchen sink as per I.S. 13983 with C.I. brackets and stainless steel plug 40 mm including painting of fittings and brackets, cutting and making good the walls wherever required 610x510mm bowl depth 200mm	1	No	4575.2	4575.00
51	Providing and fixing PVC waste pipe for sink or wash basin including PVC waste fittings complete, 32mm dia	100	RM	60	6000.00
52	Providing andd fixing wash basin with C. I./M.S. brackets, 15mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever required:White Vitreous China Wash basin size 630x450 mm with a pair of 15 mm C.P. brass pillar taps	5	No.	3592.2	17961.00

DSE

	-	The control of the co	The second secon			-
	53	Providing and fixing of MS Man Hole cover of 0.75x0.75m size fitted with angle iron frame 40x40x4mm with 2mm thick MS plate incl. all locking arrangements and carriage by all means complete job.	6	No	5500	33000.00
	54	Laying & fitting of G.I. pipes complete with G.I. fittings excluding trenching and refilling etc. (external work) Light				
T	ì	100mm dia	3000	RM	118.47	355410.00
	ři	80mm dia	1000	RM	80.35	80350.00
	iii	65mm dia	4000	RM	80.35	321400.00
-	iv	50mm dia	5000	RM	44.88	224400.00
The state of the state of the state of	٧	40mm dia	4000	RM	44.88	179520.00
	vi	25mm dia	10000	RM	33.71	337100.00
-	νĭi	20mm dia	10000	RM	22.27	222700.00
The second section of the section of	55	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete				
	i	25 to 40 mm nominal bore	1200	No.	732.87	879444.00
Company of the	ü	50 to 80 mm nominal bore	300	No.	1395.62	418686.00
And the latest of the latest o	56	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe)	· who we			
-	i	200mm dia DI K-7	3556.3	Qtls	270.1	960557.00
	ii	150 mm dia DI K-7	720	Qtls	270.1	194472.00
	57	Providing Push on Joints to Centrifugally (Spun) Cast iron pipes or Ductile iron pipes including testing of Joints and including the cost of rubber gasket.				
	i	200 mm dia DI	2000	No.	234.3	468600.00
	ii	150mm dia DI	545	No.	159.17	86748.00
	58	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundation etc. layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering lead upto 50m and lift upto 1.5m.	10277.28	CUM	198.7	2042096.00



9	providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-Incharge. (Made of	642.6	SQM	806.85	518482.00
	G.I. wire of dia 4 mm)	2	No	3000	6000.00
-	. II - II carriage Collidiate John				
-	Providing and fixing of Electrical points (neutron) and lighting) incld. cost of wire switches, necessary MCB's switch boards, ceiling roses reputed make ISI mark screws, casing / conduit				
	charges required for the job.	10	No	1050	10500.00
$\overline{}$	a. Lighting points.	10	No	1400	14000.00
ii	ting points	10			
62	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidation with road roller of 8-12 tonne capacity including making good the undulation etc. and disposal of surplus earth upto 50 meters.	1500	SQM	139.4	209100.00
63	Supplying and stacking at site excluding carriage			210.00	67494.00
i	Graded crushed stone aggregate of size 63 mm - 45 mm	103.95	CUM	649.29	68773.00
il	Graded stone aggregate atsite of size range 53mm- 22.4mm	103.95	CUM	661.6	8927.00
iii	Stone Screening of 13.2 mm nominal size	15.39	CUM	580.06	
iv	Stone Screening of 11.2 mm nominal size	22.23	CUM	580.06	12895.00
v	Stone Dust	9.6	CUM	296.98	2851.00
64	Supply and fitting of pipe specials as per relevant IS specifications		ļ	000	18000.00
	65 mm dia Union	20	No.	900	16950.00
i	50 mm dia Union	30	No.	565	21750.00
iii	40 mm dia Union	50	No.	435	25000.00
iv	25 mm dia Union	100	No.	250	23750.00
	20 mm dia Union	125	No.	190	11000.00
vi	15 mm dia Union	100	No.	110	2400.00
vii	80 x 65 Red. Socket	5	No.	480	2400.00
		10	No.	380	3800.00







	L	ha	,			
	59	providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineer-incharge. (Made of G.I. wire of dia 4 mm)	642.6	SQM	806.85	518482.00
-	_	- It of exhaust fans 350mm size reputed make ISI	2	No	3000	6000.00
	60	mark incld. all carriage complete job. Providing and fixing of Electrical points (heating				
		I lighting) incld. cost of wire switches,				
		MCR's switch boards, ceiling roses				
	61	make ISI mark screws, casing / conduit				
		materials of allsorts of carriage and labour				
		charges required for the job.	10	No	1050	10500.00
ackslash	į	a. Lighting points.	10	No	1400	14000.00
+	ii.	b. Heating points.	10			
	62	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidation with road roller of 8-12 tonne	1500	SQM	139.4	209100.00
		capacity including making good the undulation etc. and disposal of surplus earth upto 50 meters.				
	63	Supplying and stacking at site excluding carriage				
	i	Graded crushed stone aggregate of size 63 mm - 45 mm	103.95	сим	649.29	67494.00
	ii	Graded stone aggregate atsite of size range 53mm- 22.4mm	103.95	CUM	661.6	68773.00
	iii	Stone Screening of 13.2 mm nominal size	15.39	CUM	580.06	8927.00
	iv	Stone Screening of 11.2 mm nominal size	22.23	CUM	580.06	12895.00
	٧	Stone Dust	9.6	CUM	296.98	2851.00
	64	Supply and fitting of pipe specials as per relevant IS specifications				
	i	65 mm dia Union	20	No.	900	18000.00
	ii	50 mm dia Union	30	No.	565	16950.00
	iii	40 mm dia Union	50	No.	435	21750.00
	iv	25 mm dia Union	100	No.	250	25000.00
	٧	20 mm dia Union	125	No.	190	23750.00
	vi	15 mm dia Union	100	No.	110	11000.00
	vii	80 x 65 Red. Socket	5	No.	480	2400.00
	viii	65 x 50 Red. Socket	10	No.	380	3800.00







				torne from that I come the	
THE RESIDENCE	50 X 40 Red. Socket	20	No.	225	4500.00
100000	40 X 25 Red. Socket	30	No.	150	4500.00
E05300	25 X 20 Red. Socket	50	No.	80	4000.00
xii	20 mm equal tee	70	No.	100	7000.00
xiii	25 mm equal tee	20	No.	130	2600.00
VX	25 x 20 tee	50	No.	130	6500.00
xvi	40 x 25 tee	30	No.	290	8700.00
xvii	40 x 20 tee	20	No.	290	5800.00
xviii	50 x 40 tee	20	No.	475	9500.00
xix	50 x 25 tee	15	No.	475	7125.00
xx	50 x 20 tee	20	No.	475	9500.00
xxi .	50 x 15 tee	20	No.	475	9500.00
xxii	65 x 50 tee	5	No.	800	4000.00
xxiii	65 x 40 tee	5	No.	800	4000.00
xxiv	20 x 15 tee	50	No.	100	5000.00
XXV	25 x 15 tee	30	No.	130	3900.00
xxvi	65 mm dia Elbow	30	No.	590	17700.00
xxvii	50 mm dia Elbow	40	No.	375	15000.00
xxvili	40 mm dia Elbow	40	No.	200	8000.00
xxix	25 mm dia Elbow	70	No.	100	7000.00
XXX	20 mm dia Elbow	50	No.	40	2000.00
xxxi	40 mm dia Nipple 4" long	10	No.	130	1300.00
xxxii	25 mm dia Nipple 4" long	10	No.	70	700.00
xxxiii	20 mm dia Nipple 4" long	20	No.	45	900.00
55	Carriage of materials from source upto nearest dumping site incl, loading, unloading and stacking (subject to actual)			TV Sept.	
i	Soling by an avg lead of 10 Kms	64.83	CUM	330.41	21420.00
ii	40mm course aggregate for av lead of 30kms	250.1572	CUM	545.28	136406.00
iii	20mm course aggregate for avg lead of 30kms	140.392765	СИМ	501.65	70428.00
iv	Sand for avg lead of 50 km	65.859895	CUM	700.37	46126.00
V	Quarry stone by an avg lead for 25 kms	54.82	CUM	903.93	49553.00
vi	Cement by an average lead of 20 km	56.1735828	MT	357.63	20089.00
vii	TMT Steel by an average lead of 20 km	5.002	MT	357.63	1789.00
viii	150 mm DI/GI pipes by an av lead of 20 km	1250	RM	14.65	18312.00
ix	100 mm DI/GI pipes by an av lead of 20 km	3500	RM	9.93	34755.00



	human av lead of 20 km	127.43			
×	GI pipes below 100 mm by an av lead of 20 km	127,43	MT	357.63	45573.00
	Carriage of materials by Manual Labours from			A CONTROL OF THE PROPERTY OF T	A STATE OF THE STA
66	Dumping Site Upto working site incl, loading,			0.00	
	unloading and stacking for an average lead of 750 meters (Subject to Actual at site)				
	750 meters (Subject to Actual at Site)			- Committee of the Parish States	
i	Soling	64.83	CUM	999.61	64805.00
ii	40mm course aggregate	250.1572	сим	918.57	229787.00
lii	20mm course aggregate	140.392765	CUM	849.71	119293.00
iv	Sand	65.859895	CUM	849.71	55962.00
٧	Quarry stone	54.82	CUM	1359.64	74535.00
vi	Cement	56.1735828	MT	468.16	26298.00
vii	TMT Steel	5.002	MT	371.27	1857.00
viii	150 mm DI/GI pipes	1250	RM	17.81	22263.00
ix	100 mm DI/GI pipes	3500	RM	12.65	44275.00
х	DI/GI pipes below 100 mm	127.43	RM	357.54	45561.00
TOTAL	L IN FIGURES				19125883.00
Add 1%(one) on all above items				191259.00	
GRAND TOTAL		age of the			19317142.00

Technical Officer

District Superintending Engineer

A Terms and Conditions: -

- The contractor shall draw agreement with the Superintending Engineer Hyd. Circle Kupwara H.Q Handwara within 07 days from the date of issue of allotment order and failing to execute such an agreement in time shall not however prevent this contract being enforced against the contractor and the conditions laid down in the NIT shall hold good even before drawl of formal agreement.
- The work shall have to be executed strictly in accordance with the approved proposals and 2. specifications of the sanctioned estimates.
- The date of start of work shall be reckoned from 07 days after issuance of allotment. 3.
- It shall be mandatory for the executing agency/ contractor to ensure safe and adequate supply of 4. electricity required for all the workmen skilled/ unskilled deployed at site of work.
- Suitable arrangements for supply of portable water at site of work for all the workmen skilled/ 5. unskilled be made by the agency/ contractor just before the virtual start of execution at site.

DSE

- Arrangements for sufficient sanitation facility at site be ensured by the executing agency 6. contactor for all the workmen to be mobilized at site besides, separate toilet facilities be provided for Female workers at the site of work.
- Performance security equivalent 03% of the value of the contract Rs. 579514/- valid in 7. accordance with bid condition shall have to be furnished by you in shape of CDR/FDR/EGR within one week of the date of issuance of allotment order or at the time of signing of agreement whichever is earlier

Insurance cover as admissible under rules shall be provided to all workers/ skilled/unskilled deployed at site and the necessary premiums shall be borne by the executing agency/ contractor

Payments are subject to the recommendation of the third party verification agency (M/s. WAPCOS Ltd)

B. Time of completion

The works shall be completed within a period of (150 Working Days) after the date of issue of allotment. In the event of the contractor failing / declining / neglecting / delay in the execution of the work, penalty to the extent of 10% of the allotted amount shall be imposed on the contractor and the work shall be got executed departmentally or through any other agency at the risk and extra cost of the above contractor. Besides action under rules for black listing of the contractor shall be taken up by the

C. Earnest Money

The CDR BEARING No:3219362 Dt: 23/11/2022 for Rs. 400000 lacs IN JK BANK BRANCH B/U SOLINA SRINAGAR (FOUR LAC RUPEES ONLY) Pledged to the (EXCUTIVE Engineer (PHE) JAL SHAKTI DIVISION Kupwara) shall be retained in the Office till successful completion of the above work after the expiry of the defect liability period.

D. Advance payment

No mobilization advance or advance payment shall be made to the allottee (contractor).

E General

All other conditions as laid down in E- NIT No: 44 of 2022-23 Dt 16/11/2022 issued under endorsement No. PHEDK/3606-16 Dt. 16/11/2022. 2022 from Executive Engineer PHE Division Kupwara shall be binding on the contractor.

No: DSE/HH/DB/ Dated: - 69 /01/2023

District Superintending Engineer,

Hydraulic Circle Kupwara HQ Handwara

Copy to the: -

Chief Engineer Kashmir PHE Department Srinagar for favour of information.

District Development Commissioner (Chairman DJJM) Kupwara for favour of information. 2.

District Nodal Officer WAPCOS Ltd. (Distt. Kupwara) for information. 3. 4.

Executive Engineer PHE Division Kupwara for information and necessary action. 5.

Head Draftsman Circle Office Handwara.

6. Office Copy.

